20099 & =0l &F

N =
2Bt A
EH S Al 2t

SAIDHE
DMEEA =4

O & AP & & A

A

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
Al Dk 11,459,245 9,603,896 1,855,349
= 3,719,000
= 1,782,500
= 5,957,745
AIH 2 7,168,960 6,702,900 466,060
2 3,719,000
= 500,000
2 2,949,960
EHEAl E& 4,312,310 27,900 4,284,410
2 3,719,000
2 593,310
2|28 WAL 552, 160 0 552,160
203 YREXY| 2,160 0 2,160
03 AEFZALFHY| 2,160 0 2,160
ONHERADEFY| 2,160
207 eIl 540,000 0 540,000
NBEEEET] 540,000 0 540,000
OEPIES E RN 540,000,0002! *14] 540,000
401 ANSHLLHH 10,000 0 10,000
038 A&=0HE] 0,000 0 10,000
Ol &= HH| 10,000
Sux 41,150 27,900 13,250
201 gr2g| 21,250 24,900 73,650
01 AtR2relt] 20,750 20,900 A 150
OREN=ZYZY 7Y 35,0002 *502 23] 3,500
OZ2elNe 2312 1,000,0008! *53| 5,000
o2gy+g 12,250
~NYFUIARS BaLG
70,0002 ¥52 x33| 1,050
—2A A B
70,0002 142 +83] 7,840
—HAMAEE HHLY
70,0002 6% 83| 3,360
02 2B 500 4,000 3,500




M MEHZ Al
N T AN

Chelr MENC Al XA (69 &8
MNuE o
SH-ZFH A AH) - MR A EE= Ol &+ 9K loﬂ/i\_Fo” Hlw &2
OXUBYIRNE+(CHERE E2H 2
2l) 250,0002! 23] 500
202 o1l 3,900 3,000 900
01 =LHoTbl 3,900 3,000 900
OAZS HLYSQ BN 22 0H| 3,900
405 RAHH S 16,000 0 16,000
01 RALSEFSH 16,000 0 16,000
Ozpizsg 226 A 7Y
16,000,0002! * 14! 16,000
SOHBZYNEIR YR N 3,719,000 0 3,719,000
= 3,719,000
401 Al&HIL=HY 3,719,000 0 3,719,000
= 3,719,000
01 Al&HI 2,889,000 0 2,889,000
OgHBBANEIR BYR
2,889,000,0002 * 14! 2,889,000
= 2,889,000
02 el 800,000 0 800,000
OYHNBZANES MYZ 800,000
= 800,000
03 Al&=CHHI 30,000 0 30,000
OYHNBZANER MYZ 30,000
= 30,000
SAAHEEZ Hy| 2,856,650 2,950,000 £93,350
= 500,000
2 2,356,650
4SS SAHNBEE A 1,206,650 1,150,000 56,650
201 pr2oty| 1,650 0 1,650
01 At=2telt] 1,650 0 1,650
OEEL] 5,009 3% %1102 1,650
401 Al&HIL=HY 1,205,000 1,150,000 55,000
01 AlZH] 1,193,000 1,150,000 43,000
OMHE TAHHTR(AR2-25 AHOHT
£)(L=176m, B=8.0m) 248,000, 0002 %14} 248,000




AN MEHZ Al
3 SAHE

el TAHEEZ F (298
(=] X XH cCtel (s =] (3] HA2 OH dE e =2}

HS SAHE T2 (AZ2-285:B2HA)

(L=270m, B=8.0m) 445,000,000 * 14! 445,000
golg SANECZ2(E23-1S:aX2)(
L=230m, B=12.0m) 500,000,000& 14! 500,000
03 AIZ=204bI 12,000 0 12,000
OgdsS ZAHEEZ(A22-25) 2,000
golg TAHEE2(A22-285) 5,000
Ogals TAHEEZ(Z23-15) 5,000
AN A2 e 500,000 0 500,000
401 AIEHIZ=20Y] 500,000 0 500,000
01 Al&HI 498,000 0 498,000
O&=0H MAFE2(LZ2-85)(L=290m, B=8
.Om, W&k 14l) 498,000,000 14! 498,000
03 AIZ=204bI 2,000 0 2,000
O M2 (L22-8F) 2,000
T2 FHY 1,000,000 1,800,000 800,000
e 500,000
= 500,000
401 AIEHIZ=20Y] 1,000,000 1,800,000 800,000
S 500,000
= 500,000
01 Al&HI 997,000 1,790,000 A793,000
Og® 2tdE = &l (L=800m, B=15.0m)
997,000,000& * 14 997,000
< 500,000
[ia 497,000
03 AIZ=20ibI 3,000 10,000 A7,000
Ogd AHdE2 HH 3,000
SAHEANE X2 150,000 0 150,000
401 AIEHIZ=20Y] 150,000 0 150,000
01 Al&HI 148,000 0 148,000
OZAAHEAIE R 148,000,000 » 14! 148,000
03 A& =01dl 2,000 0 2,000

OZAIHEAE SN2+ 2,000




SN MEHEAID
By F){ey

CHol SOIE EHBY WA (SHol:®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
FHEZE A 212,000 117,500 94,500
& 52,500
= 159,500
SHE =H&38 o 212,000 117,500 94,500
= 52,500
i 159,500
gIE &l 145,000 80,500 64,500
& 52,500
= 92,500
402 BIZ2HX =0l 145,000 80,500 64,500
= 52,500
2 92,500
01 BIZEXI=22 X 145,000 80,500 64,500
ORI AFHl XI&3 700,000& *150= 105,000
= 52,500
i 52,500
ONHXel KNS 800,000& x50= 40,000
BlE & MUX X 7,000 7,000 0
402 QIZ2HX =0 7,000 7,000 0
01 BIZEAI=22 X 7,000 7,000 0
OBIEFHl XI&23 200,000& *35& 7,000
Orstt2 A== Jt3J| 60,000 30,000 30,000
402 DI2HTHE0H 60,000 30,000 30,000
01 BI2ZtXI=22 X 60,000 30,000 30,000
OZ A& XI& 3,000,000 *20 Al CH 60,000
SAS2 =4 3,594,205 2,493,240 1,100,965
& 1,230,000
= 2,364,205
tE2ssAE XA 3,350,000 830,000 2,520,000
& 1,230,000
= 2,120,000
oS3l HE 1,720,000 330,000 1,390,000
401 Al &HIZ20HYI 30,000 0 30,000
01 Al&b| 30,000 0 30,000




SH MENE AT
M CAZ2 XA

=P OtEssSAE X EERSE

SN HB SR (BIH) - A - B S 0l &b S D=2
A H 9 FAY - BES &5 Ofl & 04 ree
O&&d 2o0tssl2 F=HEH
30,000,000& » 14! 30,000
402 QIZEXE01H 1,690,000 330,000 1,360,000
01 2UAR2EX 1,690,000 330,000 1,360,000
O0ls™ =30t23& dx
150,000,000& *1= 150,000
Odgdls Waitsal2 s
150,000, 000& 1= 150,000
Oddd 2Zgitsa2 A5
150,000, 000& 1= 150,000
OdH =40tssl2 A=
150,000,000& * 1= 150,000
O0ls™ deitsala =5
150,000, 000& 1= 150,000
ONMYH 230232 &S
150,000, 000& 1= 150,000
Oodialle Mt 2 &
150,000,000& *1= 150,000
OEH& D=3l A 30,000,000& 2= 60,000
OOIE® IHZERD &S
40,000,000& *1= 40,000
OuH FslS&ED W=
40,000,000 1= 40,000
Oy=d =gissad Uhskd MNEE &
Xl 5,000,000& =14 5,000
OyFE =023 2122 ¥ 4y
= 20,000,000& * 14! 20,000
OMZE AF0ISED MF
45,000,000& x1= 45,000
ONY SZ0ISa2 A4 &X
10,000,000& * 14! 10,000
O&LdH JI30tssl& I+
20,000,000& * 14! 20,000
Oobtrssl& W= 50,000,000& *8IH 2 400,000
Otsz2 A X2 1,630,000 500,000 1,130,000
= 1,230,000
= 400,000
402 QIZEXE01H 1,630,000 500,000 1,130,000
L= 1,230,000
i 400,000
01 QR=Ex 1,630,000 500,000 1,130,000




AN MEHZ Al
M SANSY &4

=P OI=SSAIE N

SN EY O (BH) - MRAY - BLS 01l & o e
Odgaig Oratitssla M=
150,000,000& 1= 150,000
= 100,000
o 50,000
Odalg daitsaa A=
150,000,000& 1= 150,000
< 100,000
o 50,000
Odille sA0tSz & Ax
150,000,000& 1= 150,000
& 100,000
o 50,000
OHe |SINISE M
150,000,000& 1= 150,000
& 150,000
Oodille Re20t23& 2
50,000,000& 1= 50,000
& 50,000
O0ls™d =30t2& 1] &=
40,000,000 x1= 40,000
& 40,000
Ools¥ 2L A=
150,000, 000& 1= 150,000
o= 100,000
i 50,000
OgdH s=02s& M S
150,000, 000& 1= 150,000
== 100,000
i 50,000
ONH sl AF
150,000, 000& 1= 150,000
== 100,000
i 50,000
ONMY™ YA0tES32 B 40,000,000& 1= 40,000
= 40,000
Ongd sIIH 22&1 &X
100,000,000& 1= 100,000
& 100,000
Od&EH 30232 A=
150,000,000& 1= 150,000
& 100,000
o 50,000




SN MENE Al
M A3 &4
=P OtEssSAE X EERSE

_ _ _ Muo
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH @ﬂw Hns2
OHFE 280232 HE+
50,000, 0002 < 1S 50,000
= 50,000
OFNQ AZOISS 2 A
150,000, 0008 1S 150,000
= 100,000
= 50,000
SAZZ = 244,205 63,240 180,965
sozne &z 32,300 5,300 27,000
201 g2 1,800 1,800 0
01 ARl 1,800 1,800 0
OYut&2y| 500
o= 222 HE 50,0002 100 500
ofgsy 700

70,0008 *5% 23] 700
OYxE 600
—=2¥ZNES Mol AR 100, 0008 *63] 600
301 YerEaa 500 500 0
12 JIEtEA3 500 500 0
OEYZIE 47 BA(TAHAEH) X3
10,000 *500H 500
401 AEHILRHY 30,000 3,000 27,000
01 A&l 30,000 3,000 27,000
Os#Zne I 2000002 * 1574 3,000
ONFAAU SHS 24 Fy|
500,000 * 1474 7,000
OXNFAAH &x| 10,000, 000! *2JH 20,000
Axg ool 7,140 24,840 A17,700
201 Y] 6. 140 4,440 1,700
01 ARzl 5,140 4,440 700
OYst4gH| 2,900
—0lElie A58 28F M
20,0008 *50 1,000
—0lE0IE ASE AYE 7Y
200,000 54 1,000
—ASPH JEAHE 7Y 100,000 62 600




SN HEHE Al
X TS =4

el TAIZ2 FHl EEREE

1
>
0x
o
0
1
5
0
=
i
=
I
o
0x
i
=
z
12
20
R
J2H
==
£l
¥
0y

—AS20E N4 oM o HelH 7Y

10, 000& *30H 300
O=2g=¢ 2,240
—UE2Es FHE 70,0003 x8H x22] 1,120

—FURUIAAIA S ALY

70,0002 824 23| 1,120
02 ZZ2YHI 1,000 0 1,000
ON&ZHIRX bl 1,000
—ASBTAAY S RN 2l
200,0002 54 1,000
202 o1t 1,000 500 500
01 =UofH 1,000 500 500
OA=, 202, CAUKY 2HX A4
2 AIOILH &4 50, 0002 *4% x5 1,000
sel@ne ANl x4 50,000 0 50,000
401 AlEHIL O] 50,000 0 50,000
01 AI&H] 50,000 0 50,000
OLTHE U HX(I2)
5,000, 00021 *20H 2 *50/ 100 50,000
A CIRrel E4 100,000 0 100,000
401 AlEHI L= 100,000 0 100,000
01 AlZH] 100,000 0 100,000
O& A& 50,000
—SAl CIXtel 89 50,000, 0002 * 14! 50,000
OAl&HI 50,000
~EHY )RS L
2,000,000 %2574 2 50,000
SYNA(BAASY) 8,600 8,600 0
201 syl 8,600 8,600 0
01 A2l 8,600 8,600 0
Ogersgt| 6,600
—BDS ASS FBEY 442
221,000 * 102 X| 2,210
—ZN2 ASS Y=V 248
270,000% +72 X| 1,890
—ZDSAYH AL M

10,000 250K 2,500




SH MENE AT
M CAZ2 T4

el TAIZ2 FHl EEREE

_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
SEEL] 5,0002 *4Z %100 2,000
A% ol - &0t Hel 46,165 24,500 21,665
201 er2g| 44,765 16,500 28,265
01 At 2eldl 41,565 14,600 26,965
OgurxgH| 37,365
—0l -5t HEEY +42
320,0002 *+10Z X 3,200
—0l B0t FA=BEY 448
270,00021 %102 X| 2,700
—ASYRUY(ASEIH) 248
30,0002 * 10021 3,000
—AEADRUH(ABSO) 242
270,5252*10024+3/8 10,145
—0I50} B AIRE R 7Y
10,0008 *5% * 108l 500
—QI5I0t BB YA 7Y 50,0008 <20 1,000
—LHPEM NHCH Y (AR A
9 HEEOIE) 3000002 *102 3,000
—QI50b R AIE B4 2502 2,8000f 700
—QIEY FA0l 2 Q5 TaIE=
MEX 7Y 300, 0002 *4CH *53] 6,000
—QIEHY B0l M2 Q508 ZeldH
EY 7Y 300, 0002 *4CH #53] 6,000
—0I50I8 =AJ| 4 7Y
400,0002! +1CH 23] 800
—0I50t8 BA E 7Y
160,0002! *1CH 23] 320
o3zl 5, 00024 +7% *1202 4,200
02 ZZ2YH 3,200 1,900 1,300
OA & =S Y| 3,200
—0I5I0tY FsIE ALY B
250,0008! *43] 1,000
—0I510tE =A| 42l
500,000 *1CH 23] 1,000
—QI5{0tE WAIYE %2
300, 0002 * 1CH <23l 600
—QI5I0tE 24yl 22 200,000% 33| 600
202 OiHl 1,400 1,000 400
01 =2Loit] 1,400 1,000 400




SN HEHE Al
X TS =4

el SAIZE F| (et9l: &2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
SEEPEEENEEEEEEL
40,000 x7H x5! 1,400
HE2HAH| (AMENZAID) 84,080 90, 256 NGB, 176
ol 2 A 3,780 3,000 780
ol 2HH| 3,780 3,000 780
203 YRFEH| 3,780 3,000 780
04 BENSIYERF 3,780 3,000 780
ORAN2EERE 3,780
Jl23&Hh| 80,300 87,256 N6,956
J23HI(SAIHEE) 38,300 41,056 N2,756
201 B2 IH| 14,300 24,056 N9,756
01 ArR2t2|tl 14,300 22,900 A8,600
OFANSHE LBt=ZH| 11,000
OHAN2E =& 5,000&*6Hx110 3,300
202 O4H| 24,000 17,000 7,000
01 =2UWdHI 24,000 17,000 7,000
OZ2M2Y 0ol 3,000
O=2LHAHYI 20,000*x7H =150 21,000
J23HI(SAIJEE) 9,000 15,000 6,000
202 O44| 9,000 15,000 26,000
01 ZUWdHI 9,000 15,000 6,000
O=2WdA-| 20,0002 *3H x 150 9,000
Jl2Zd(sd3Ad=s) 12,000 11,200 800
202 O4Hl 12,000 11,200 800
01 =2Woib] 12,000 11,200 800
O=2ZW A 20,000& *4H =150 12,000
Jl2ddl(elalote) 21,000 20,000 1,000
202 o4l 21,000 20,000 1,000
01 ZUWdH| 21,000 20,000 1,000
O=2Wdab| 20,000 *7H 150 21,000
HRE S (MEH T Al D) 400,000 200,000 200,000
LHEHHX S 400,000 200,000 200,000
HII0EHZAIHEAE EYHIH &2 400,000 200,000 200,000




AN MEHZ Al
M MRS (HUEHZAIDY)

el WEHHXE (298
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
701 JIEIHNMES 400,000 200,000 200,000
01 JIEtSIHNMESZ 400,000 200,000 200,000

OgetslH 8&23 400,000




